5-2 PRACTICE

	Write the equation in function notation

Y = 2x - 5

	Write the equation in function notation

Y = -2x - 6


	Write the equation in function notation

Y = 3x -2

	Write the equation in function notation

Y = -3x


	Write the equation in function notation

Y = -x2 - 6

	Write the equation in function notation

Y = |-5x| 



	Evaluate the function

 f(n)= -2n - 8 for n = 3

	Evaluate the function

  f(x) = 3x + 6 for x =  2


	Evaluate the function

f(x) = 3x2 + 1 for x =  2

	Evaluate the function

 f(x) =| 5x| + 11 for x =  0

	Evaluate the function rule f(x) = x + 5 to find the range of the function for the domain {-6,0,2}



	Evaluate the function rule f(x) = -3x - 2 to find the range of the function for the domain {-1,0,3}



	Evaluate the function rule f(x) = x2 -6  to find the range of the function for the domain {-5,-2, 2}



	Evaluate the function rule f(x) = |2x+6| + 6[image: image2.emf] QUOTE  

 QUOTE [image: image3.emf] 


.  to find the range of the function for the domain {-3,0,1}



	Evaluate the function rule f(x) = 3x  to find the range of the function for the domain {-5,0,5}




For the following input/output table, determine which of the following ordered pairs are solutions to the function [image: image5.emf] QUOTE  

 QUOTE [image: image6.emf] 
f(x) = x - 6

.  Write YES or NO for each 
one.  
	x
	f(x)
	[image: image8.emf] QUOTE  

 QUOTE [image: image9.emf] 


f(x) = x -  6
Work
	YES or NO

	-2
	-8

	
	

	0
	6

	
	

	6
	0

	
	

	10
	4

	
	


For the following input/output table, determine which of the following ordered pairs are solutions to the function [image: image11.emf] QUOTE  

 QUOTE [image: image12.emf] 
 

f(x) = x2 - 1.  Write YES or NO for each one. 
	x
	f(x)
	f(x) = x2 - 1
Work
	YES or NO

	-2
	3

	
	

	0
	1

	
	

	-6
	-37

	
	

	10
	99

	
	


For the following input/output table, determine which of the following ordered pairs are solutions to the function f(x) = -|x|- 2[image: image14.emf] QUOTE  

 QUOTE [image: image15.emf] 


.  Write YES or NO for each one.  
	x
	f(x)
	f(x) = -|x| - 2
Work
	YES or NO

	-2
	-4
	
	

	0
	-2
	
	

	6
	-8
	
	

	10
	-12
	
	


BONUS: 

List 3 possible solutions for f(x) = 3x
(Hint: Pick three values for x and evaluate)
